
@ ARKA JAIN Universityn Jharkhand
lst Semester Final Examlnatlon - 2018-i9

Subject : introduction to Computer Science

Time: 3 Hours

Course: BCA & B.Sc IT
Full Marls : 70
Pass Marks: 28

r Candidates are required to give their answers in their own words as far as practicable.
o Question Paper is divided into Three Parts -A, B & C
r Part-A is compulsory.
o Part- B contains SIX questions out of which FOIIR questions are to be answered.
r Part- C contains SIX questions out of which THRXE questions are to be answered.

PART A
Q1). All questions are compulsory

Al Multiple Choice Questions :

1. Which of the following is a part of the Central Processing Unit?
a) Printer
b) Key Board
c) Mouse
d) Arithmetic & Logic Unit

(10x1=I0)

2. Junk e-mail is also called
a) Spam
b) Spoof
c) Sniffer script
d) Spool

3. What type of computers are client computers (most of the time) in a client-server system?
a) Mainframe
b) Mini-computer
c) Microcomputer
d) PDA

4. Where are data and programme stored when the processor uses them?
a) Main Memory
b) Secondary Memory
c) Disk Memory
d) Programme Memory

5. What does DMA stand for?
a) Distinct Memory Access
b) Direct Memory Access
c) Direct Module Access
d) Direct Memory Allocation

6, BCD iS

a) Binary coded Decimal
b) Bit Coded Decimal
c) Binary Coded Digit
d) Bit Coded Digit
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7. Which of the following is first generation of computer?
a) EDSAC
b) rBM-1401
c) CDC-1604
d) rcl-2900

8. SMPS stands for
a) Switched Mode power Supply
b) Start Mode Power Supply
c) Store Mode Power Supply
d) Single Mode Power Supply

is the functional key to display save -as box.
a) F5
b) F6
c) F9
d) Ft2

10. what type of virus uses computer hosts to reproduce itself?
a) Time Bomb
b) Worm
c) Melissa Virus
d) Macro Virus

BJ Very Short question

a) What is cache memory?
b) What are the 2 Categories in Input Devices?
c) What are the disadvantages of a Dot Matrix printer?
d) Explain pen drive.
e) Explain zip drive.

PART B
Q2). Answer any four:

a) convert the following binary numbers to hexadecimal and octal

(5x2=10)

(4x5=20)

(a) 101 10

(b) (b) 1011011011

(c) 110110111.01111

(d) I 101 l0l 101 101 .101 10

(e) 1l100l00l.ll00l0l
b) What logic function is obtained by adding an inverter to the output of an AND gate? Explain with

suitable example.

c) What is the difference between a volatile memory and a Non-volatile memory?
d) What do you mean by output devices? Explain any five-output devices with diagrams.
e) What are search engines? With suitable example and explain.
0 What do you understand by the term network topology?

9.
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PART C

Answer any three: (3x10=30)

Q3).Write the short notes on Digital Pen, Digital Camera, Scanners, Projector, and speech Recognition.

Q4).What are the essential components of a computer? Draw the schematic block diagram of a computer

showing its essentialcomponents. Discuss the function of each component.

Q$).What are the important features of various generations of computers? Give some examples of

computers for each generation.

Q6).What do you understand by Applications of Computer? What are the facilities provided by a modern

Computer system?

Q7).What are transmission media? What are the different categories of transmission media?

Q8).What do you understand by operating system? What are the facilities provided by a modern

operating system?
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ARKA JAIN Universityn Jharkhand
{st Semester Final Examination - 2O18-{9

Subject :Business Communication

Time: 3 Hours

o Candidates are required to give their answers in their own words as far as practicable.
o Question Paper is divided into Three Parts -A,B& C
r Part-A is compulsory.
r Part- B contains SIX questions out of which FOUR questions are to be answered.
o Part- C contains SIX questions out of which THREE questions are to be answered.

Course: BCA/BSCIT
ruu uait<s7o
Pass Marks: 28

PART A
Q.1) All questions are compulsory

Al Multiple Choice Questions :(10x1=10)

a)Web writing is a form of :

i)Intrapersonal Communication
ii)Interpersonal Communication
iii)Public Communication
iv)None of the above

b)People having low self esteem and hence not being able to communicate well is an example of

i)Phys io 1o gical B arrier
ii)Psychological Barrier
i i i)Organi sational Barrier
iv)None of the above

c)Technical terms used by a financial analyst is an example of barrier to communication

i)O r ganizati o n al B arri e r
ii)Attitudinal Barrier
iii)Physiological Barrier
iv)None of the above.

d)Signs at the airport is an example of
i)Audio Visual Communication
ii)Signs and Symbols
iii)Silence
iv)All of the above

e)In this the information flows from one person to another in a sequential order

i)Probability Chain
ii)Cluster Chain

-iii)Single Strand Chain
iv)Gossip Chain

- 
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Communication lacks personal touch.

i)Written Communication
ii)Oral Communication
iii)Non Verbal Communication
iv)None of the above.

g)- refers to the process of translation of symbols encoded by the sender into ideas that can
be understood.

i)Encoding
ii)Feedback
iii) Decoding
iv) None of the above.

h)-BarriersarebehaviourSorperceptionsthatpreventpeoplefromcommunicating
effectively.

i) involves haptics, kinesics, vocalics and chronemics.

j)A person who possesses a need to dominate others and distrust the motions of others is known as an

Bl Very Short question(5x2=10)
i) What do you mean by Glossophobia?
ii) What is a Memoir?.
iii) State four forms of Written Communication used with clients
iv) What do you mean by noise in the communication process? State two examples.
v) What is the purpose of Communication in an Organisation?

PART B

Q2. Answer any four: (4x5:20)\

--ffitate the strategies of becoming a better speaker.
.-iifstate a few tips of diary writing.

iii) What do you mean by jingle writing? State a few examples.
iv)What is informal communication channel? State the informal communication channel chains

.-v)List a few limitations of oral communication.
yr\T'lhat is the importance of communication in an organization?

0

- 
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PART C

Answer any three: (3x10=30)

Q.3)Why is Public speaking important in your life? Elaborate.

Q.4)"It was New Year's Eve and little did she know it would mark a turning point in her life." Using the
above lines plot a story of your own.

Q.5)What is Non-Verbal Communication? Explain the types of Non- Verbal Communication.

Q.6)State the Communication Barriers and list the ways to overcome it.

Q.7)What is meant by Formal Communication Channel? Explain briefly the structure (components) of
Formal Communication Channel

Q.8)State the Pros and Cons of Written Communication.

- 
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ARKA JAIN UniversitY' Jharkhand
{rt Semeater Flnal Examlnatlon - 2Ot&{9

) -c-r

Course: BCA/BSC (IT)
Full Marks: 70
Pass Marks: 28

Subject: Discrete mathematics

Time:3 Hours

a

a

a

a

a

a

Candidates are required to give their answers in their own words as far as practicable.

Question Paper is divided into Three Parts -A' B & C

Part-A is compulsorY.

Part- B contains SIX questions out of which FOIIR questions are to be answered'

Part- C contains SIX questions out of which THREE questions are to be answered'

Part-D is compulsory

PART A

Q1.) All questions are compulsory:-

Al Objective Answer TYPe

i) lf set having' m' number of elements then total no of proper subset will be

a) 2*'2
b) 2m -2
c) 2m+7

(5x1:5)

d) none ofthese

let A be the set of all lines in a plane then the relation R={(lr, l2):l1ll12} is

a) reflexive
b) symmetric

c) equivalence

d) None of these

iii) ) f:R'+ R and if f(x)=[x] then range of function will be

a) R+

b)R
c)z
d) None of these

iii) How many 5 digits telephone numbers can be constructed using the digits 0 to 9 sach no starts

with 67. and no digits appear more than once?

a) 336

b) 420

c) 330

d) None of these

v) if n is natural number then !3 + 23 + 33 ... ... ..'n3 is equal to

a)

b)

c)

d)

n(n+7)
2

n(n+1)(2n+1)
6

(n(n +r)) 2

t, J
None of these

BCA/ BSC(IT) - 1" Semester Final Exam - 2018-19 | AIU, Jharkhand

\o.



Bl Short Answer Type

i) Define equivalence relation
ii) Define essential quantifier?

iii) If A={1,{2}} find p(A)
iv) Define degree of vertices?
v) Find n if (n+2)! = 60(n - 1)!

PART B
Q2.) Answer any four: (4x5=20)

i) Using principal of mathematical induction prove that
a+a+ 1 !... t 

=-n2.5 s.8 8.11 (3n-1)(3n+z) (6n+4)

ii) f n=n-12) and B=R-{l} if f: A+ B and f (x) = * show that f is one-one onto. Hence find fl
iii) how many words with meaning or without meaning can be formed from the letters of the word

(i) All vowels occur together
(ii) Allvowels not occur together

iv) Define conditional and biconditional statements with truth table? Also define converse,
inverse and contra positive, of p-+ q.

v) . find the value of f(1),f(2),f(3),f(4), and (S) if f(n+l)=3f(n) is defined recursively by f(0)=1 and for
n=O,1,2,3.,....

vi) tn a single throw of two dice, find the probability that neither a doublets nor a total of 10 will appear.
vii)Find the gcd of 119 and272.also express the gcd as a linear combination of I 19 and272.

viii) Show that the relation R on the set A:{x: xeZ,Ol x < L2}, given by

R= {(a, b):la-bl is a multiple of 4} is an equivalence relation.

PART C

Answer any Three:

Q3.) State and prove that de Morgan's theorem in generalform?

Q4.) . Let f:X--+ I/ be a mapping and let A, B cy. then

Prove that (t),f -'(an n) - f -L{d)n /-1(B)

(3x10=30)

(ii) /-1(Au a) - f-tlalu f -1@).

Q5.) prove that the relation' congruence modulo n' in the set of integers is an equivalence relation?

Q6.) Using principal of mathematical induction prove that 13zn+z - Bn - 9) is divisible by g.

I
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An insurance company insured 2000 scooter drivers, 4000 car drivers and 6000 truck drivers. the

:illll :1111'd"nt 
involving a.scooter ,a car and truck is l/too ,3/too,3/20 respectivety. one ofthe insured persons meets with an accident. what is the probability that he is a scoter driver?

Q8.) Prove that the set [0, 1] is uncountable.

PART D

Q9') consider the experiment of tossing a coin. If the coin shows head, toss it again but if (5xl=5)It shows tail, then throw dice. Find the conditional probability of the event that the die shows number
greater than 4 given that there is at least one tail.
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ARKA JAIN UniversitY' Jharkhand
{rt Semester Flnal Examlnatlon - 2Ol8'{9

Subject : Programming in C

Time: 3 Hours

Course: BCA/BSCIT
Full Marls : 70

Pass Marls: 28

a

a

a

a

a

Candidates are required to give their answers in their own words as far as practicable.

Question Paper is divided into Three Perts -A, B & C

Part-A is compulsorY.

Pert- B contains SD( questions out of which FOIrR questions are to be answered'

Part- C contains SIX questions out of which THREE questions are to be answered'

PART A

Q.1) All questions are comPulsory

Al Multiple Choice Questions :

a) Which pair of functions below are used for single character VO ?

i) getcharQ and PutcharQ
ii) scanfQ and Printf0
iii) inputQ and outPutQ
iv) None of these

b) Which of the following is a keyword used for a storage class?

i) printf
ii) external
iii) auto
iv) scanf

c) What will be the output of the following program?

void main( )
{

int x [ ] : {10,20,30,40,50};
printf (" Vr %d yodo/do/od",x [4] ,3[x] ,x[2] ,1[x] ,x[0] );

)
i) Enor
ii) 10 20 30 40 50

iii) s0 40 30 20 10

iv) None of these

d) The size of an int variable in C is
i) 8 bytes
ii) 4 bytes
iii) 2 bytes
iv) l byte

e) Which of the following is not a keyword of 'C' ?

i) auto
ii) register
iii) int
iv) function

(10x1=10)

BCA/BSCIT - 1't Semester Final Exam - 2018-191 AJU, Jharkhand



'l-- c

ARKA JAIN University, Jharkhand
lrt Semester Flnal Examlnation - 2O{g.lg

Subject:Hindi

Time: 2 Hours

Course: BCA/BSCIT
Full Marks : 35
Pass Marks: 14

a

a

a

a

a

Candidates are required to give their answers in their own words as far as practicable.
Question Paper is divided into Three parts -A, B & C
Part-A is compulsory.

Part- B contains FOUR questions out of which THREE questions are to be answered.
Part- c contains TI{REE questions out of whieh TWo questions are to be answered.

PABT A
Q.l) All questions are compulsory

Al Multiple Choice euestions :

(i) Sildafutrfirrffs, rEfudrH?

(4x1:4)

(ii) 3l-fl-d€f fifu*'frPsat oq+(r{a.T g$ ?

fl ileqrr

eT) qK6.trR

(iii) {qTfufr GilT ffire #r artr qr* t r

fr) sIfrEr {r) }ir

er)arnagrf,E EI) $adH

* HrT s-6rff s'r ar{rqi frla qr r

s) srf,frR6

er) tr#rrdfrE

g).ril-rrf,fr6

fr) 3rdrdH

at) kcre

g) qr{EK

Er) $fr6r

u) fidTE.rnR

q qYE 6Er{

(iv)

q)fldr$tmt$afr
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Bl Very Short question

(i) snt Fqoa 6t,-

r5rpnfrwrpn, SttSsW I

qdr 6t srqr ;rdt, rnir i{r$ 3IF (t ll

(ii) fr:,frfrfua erdtqldq"frfrdr* qreEfrIil:-

iD 3{RIr

u1 Fcrs'rfr

PART B

Q.2) Answer any three

(i) ,P1sqs mt:-

srgfr Tq f'f, t{s fi tfi, r.a;a afi' :r*ntI S,

6rr+'r frtrH ffi{fr 3{rS mr wd;rartfr;Trtr-,

ftgr rB sq, ftsr ry$ rq6t d frs IM ?fr,

geA a{-frilf *' ]fE 6]rfr g-ff Etrff ?ft,

W il$r?{drffE6frdSrqrdrqrfr St t

(ii) rqa €r qfr'eilqrfr{nr 3;rh *d +'r:rererqsfarffi t
(iii) EntTa ?re(Rd :-

q trff
u3lrfiq
ET3fiFT

q3rgTfr

g 3ngt

gv) tv-* at@ f ffi ?iEet fr *at ad y aqd frfraffi i qw va w fu r

(3x5: 15)
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P,{RT C

Answer any two:
tuitttun

a.3) Tsg(rd*Er+-r 3rerET ffiE $Trrf,3rfrqrr

q.+; ft+aRfua rreqr+& qil fr{t fr sTdT-{ *t
(i) DIRECTOR
(ii) ADVTSER
(iii) ourPUT
(iv) PAYMENT
(v) RISK
(vi) INPUT

q.sl mrfrrr fi-fl-fr q'r rffiiqr fu.

(6X2= t2)
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ARKA JAIN University, Jharkhand
Firct Semester Examlnation - ZOlS.lg

IT Awareness

Time: 2 Hours

Candidates are required to give their answers in their own words as far as practicable.
Question Paper is divided into Three parts -A, B & C
Part-A & C are compulsory.

Part- B contains SIX questions out ofwhich Four questions are to be answered.

PABT A
Q.1) All questions are compulsory

Multiple Choice Questions:

a) Larry Pages is associated with
TCS ii)HCL

Course: BCA/BSCIT
Full Marks:35
Pass Marls: 14

a

a

a

a

(10x1=10)

b) IC was used in

i) First Generation Computers.

iii) Third Generation Computers

c) Turing Machine was invented by

ii) Second Generation Computers

IV) None

i) Alan Turing ii) charges Babbag iii)Tim Bemers Lee iv) None

d)

e)

Machine Language is considered as

i) Low level Language ii) High Level iii) Middle level iv) None

Tata groups started

D Wipro

Who is considered as

i) Ada Lovelace

WWW invented by

i) Tim Berners Lee

ii)TCS iii)Tech Mahindra iv)Rolta

ii) Larry Page iii) Nikulus Wirth iv) None

h) Enigma Machine was used in

i) First world war ii) second world war iii) ARPANET

first Lady computer

ii) Akana Hiliurn iii) S willliams iv) None

s)

iv) None
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Imitation Game was based on the life of

i) Tim Berners Lee ii) Nikulas Wirrh

F C Kohli was associated with

i)Tata group ii)Shiv Nadar iii)Sunil Bharti Mittal

iii) AIan Turin

iv)None of above

iv) Ada Lovence

(4x5=20)

(1x5 =5)

i)

i)

PART B

Q.2). Answer any Four:

i) Discuss the rore Tim Berners Lee in the development of Internet?
ii). -Y-lr, 

do you mean by y2ap;;i;;
ii) Wrat do you mean by IT,";i;;;t^"
;? ilfi:fi:Iff;:::*t?e;,.i,s i, oeveropment or computer science and technorosy?
vi) Discuss the rore of Information Technorogy in Education

PART C

Q'3) what are the threats and chailenges of Indian IT industry?
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